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1. FotrpiR wore fapmzg T f 8
Answer the following as directed : |
(@) STHIIF T o1 Sewe fora| 2
Write two objectives of Industrial
Relations.
(b) &= TR Ty FACO ST &0 | 1
(9% 1 o fora )

Prohibiting an individual employee is
known as lockout.
( Write True or False )

24P/355 ~ ( Turn Over)



(2)

(c) Swofe TEe ARFEeRR s Fo
TEERA Al oS |

(o= e ol )

Ministry of Labour and Employment

looks after the Industrial Relations

situations in the country.
( Write True or False )

(d) Srofie TWEd  oEere RS @I
HIRGIRRE 2

— —=Who developed the systems approach to

—industrial Relations?

) THR oF AZPT ToRT ST I
AR SEsfe 727 |

(W= G oReT o)
The scope of Industrial Relations does
not include employee and customer
relations.
( Write True or False )
() TSR YO Ay SCEy 40

Mention two characteristics of

arbitration.
2. o GrR farar (R et wif ) - 5x4=20
Write short notes on (any four) :
(@) v i
Industrial Peace
(b) 4B AP
Forms of Strike
(c) RS T
Collective Bargaining
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(d) DT
Conciliation

(e) SRS 43(€h
Unjustified Strikes

(H T=-f= Ferfoce

Win-win Negotiation

(@) S TWa IFca B @2 o@ SwitR

A SRR S 41 | 3+10=13

What is meant by Industrial Relations?
Discuss the significances of good
Industrial Relations.

%11/ Or

(b) ‘TR RfET SRS e STl
TR’ AL R o< |

Write an explanatory note on Industrial
Relations in India in post-globalization

L

era’.

(@) TIF AR AF e TATT SUS
«ft 53 (Ot ol |

Write a brief note on ‘Government
policies and Industrial Relations’.

51/ Or
(b) Srae e cFae ¥ AR SR
91 |

Assess the role of labour policies in the
maintenance of industrial peace.

13

13
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(4)

5. (@) The Industrial Disputes Act, 1947
e TEd F9 WA ‘strikes’ I
lockout’s i@ 3?7 Strike/H G SIF
lockout /SRR @b Pl IS 4 | 4+9=13
Define ‘strikes’ and ‘lockouts’ as used in

the Industrial Disputes Act, 1947. State
the comparison between strikes and

lockouts.
911/ Or
(b) ST TOHAFE JEI HE  FAFTR
A 41 | 6+7=13

Discuss the causes and consequences
of industrial conflicts.

6. (o) SRve Srte A afecay srF feifes
JAEPTRS R oL I 40 | 13
Explain briefly the machinery of
prevention and settlement of industrial
disputes in India.

§eJr/ Or
(b) SN (Negotiation) et & e 2 Swwise
faam Feeifes crae FemR w1 =01 41 |
3+10=13

What do you mean by negotiation?
Explain the significance of negotiation
in the settlement of industrial disputes.
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